Unit 2 Objective 7 Remediation

Determine the equation for the line of best fit
y =@mx +®
Y2—V1

*m = ool Use two points on the line to determine the slope OR the highest and
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lowest point.

* b = y-intercept (where the graph crosses the y-axis)
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b = 3 (where the graph crosses the y-axis)

Therefore, ¥ =@X +@ , ¥y = gx + 3



Draw a line of best fit, find the slope and y-intercept, and write an equation for the line of best
fit.
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Draw a line of best fit, find the slope and y-intercept, and write an equation for the line of best
fit.

3.
Number of Hours of Exercise (Y) vs. Number
of Months Machine was Cnwned (X)
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